

$$\alpha \times \alpha = \alpha^2 = 1 \rightarrow \alpha = \pm \frac{1}{\alpha} \\ -\frac{1}{\alpha} = \alpha + \alpha^2 = \alpha^2 \left(\frac{1}{\alpha} - \alpha - \alpha^2 \right) \rightarrow \frac{1}{\alpha} - \alpha - \alpha^2 = 0 \rightarrow \alpha^3 - \alpha^2 - \alpha + 1 = 0 \\ \alpha^3 - \alpha^2 - \alpha + 1 = 0 \rightarrow \alpha^2(\alpha - 1) - (\alpha - 1) = 0 \rightarrow (\alpha^2 - 1)(\alpha - 1) = 0 \\ \alpha^2 - 1 = 0 \rightarrow \alpha = \pm 1$$

(۲)

$$\frac{1}{\alpha} + \frac{1}{\beta} = 0 \rightarrow \frac{1}{\alpha} + \frac{1}{\beta} + \frac{1}{\sqrt{\alpha\beta}} = 10 \quad \alpha + \beta = \frac{m+1}{\sqrt{\alpha\beta}} \quad \alpha\beta = \frac{1}{\sqrt{\alpha\beta}} \\ \frac{\alpha + \beta}{\alpha\beta} + \frac{1}{\sqrt{\alpha\beta}} = 10 \rightarrow \frac{m+1}{\frac{1}{\sqrt{\alpha\beta}}} + \frac{1}{\frac{1}{\sqrt{\alpha\beta}}} = 10 \quad m+1+1=10 \rightarrow m=8 \\ \frac{1}{m} = \frac{1}{8} \rightarrow \frac{1}{8} \neq -1 \quad \checkmark$$

(۲)

$$(m-\alpha)^2 \times (m-\beta) \rightarrow (m^2 + \alpha^2 - 2\alpha m)(m-\beta) = m^3 + \alpha^2 m - 2\alpha m^2 - \beta m^2 - \alpha^2 \beta - 2\alpha\beta m = m^3 - (2\alpha + \beta)m^2 + (\alpha^2 - 2\alpha\beta)m - \alpha^2\beta \\ -\beta\alpha^2 = -\frac{1}{\alpha} \rightarrow \beta\alpha^2 = \frac{1}{\alpha} \quad \frac{\beta\alpha^2}{\alpha\beta} = \frac{1}{\alpha} \rightarrow \frac{\beta}{\alpha} = \frac{1}{\alpha} \rightarrow \beta = \frac{1}{\alpha^2} \\ 1 + \beta = \alpha + \beta + \alpha = 1 - \frac{1}{\alpha} = \frac{\alpha-1}{\alpha} \quad K = -(2\alpha + \beta)\alpha^2 = -\frac{1}{\alpha} \times \alpha^2 = -\alpha \quad \checkmark$$

(۲)

$$\alpha + \beta = -4 \rightarrow \beta = -4 - \alpha \rightarrow \beta^2 = (-4 - \alpha)^2 = 16 + 8\alpha + \alpha^2 \rightarrow \alpha\beta^2 = \alpha(16 + 8\alpha + \alpha^2) = 16\alpha + 8\alpha^2 + \alpha^3 \\ \alpha^3 + 8\alpha^2 + 16\alpha = 0 \quad \alpha(\alpha^2 + 8\alpha + 16) = 0 \quad \alpha = 0 \text{ or } \alpha^2 + 8\alpha + 16 = 0 \\ \alpha = -4 \pm \sqrt{16 - 16} = -4 \quad \alpha = -4 \rightarrow \beta = 0 \\ (-4 - 4\sqrt{16})(-4 + 4\sqrt{16}) = 9 - 16 = -7 \quad \checkmark$$

(۲)

$$m^2 - 5m - 0 = 0 \rightarrow t^2 - 5t - 0 = 0 \rightarrow t = \frac{5 \pm \sqrt{25 - 0}}{2} = \frac{5 \pm 5}{2} = 0 \text{ or } 5 \\ t > 0 \rightarrow \frac{5 - 5}{2} \times \rightarrow \frac{5 + 5}{2} \checkmark \quad m_1 = \sqrt{\frac{5 + 5}{2}} = \sqrt{5} \quad m_2 = -\sqrt{\frac{5 + 5}{2}} = -\sqrt{5} \\ S \rightarrow \sqrt{\frac{5 + 5}{2}} - \sqrt{\frac{5 + 5}{2}} = 0 \quad P = m_1 \times m_2 = -(\frac{5 + 5}{2}) = -5 \\ 2P^2 - 5SP + 2S = 0 \rightarrow 2P^2 - 5P \left(\frac{5 + 5}{2} \right) + 2 \left(\frac{5 + 5}{2} \right) = 2P^2 - 25P + 10 = 0 \\ 2P^2 - 25P + 10 = 0 \rightarrow P = \frac{25 \pm \sqrt{625 - 80}}{4} = \frac{25 \pm 24.5}{4} = \frac{49.5}{4} \text{ or } \frac{0.5}{4}$$

(۲)

$$2P^2 - 25P + 10 = 0 \rightarrow P = \frac{25 \pm \sqrt{625 - 80}}{4} = \frac{25 \pm 24.5}{4} = \frac{49.5}{4} \text{ or } \frac{0.5}{4} \quad \checkmark$$

$$\alpha + \beta = \frac{\alpha}{p} \checkmark \quad \alpha' + \beta' = \alpha + \frac{1}{p} + \beta + \frac{1}{p} = \alpha + \beta + 1 = \frac{\alpha}{p} + 1 = \frac{\alpha}{p'}$$

$$a^V + P a = -a^S a^V + P a^S a^S \quad \left(\begin{matrix} -a^S a^S \\ a^S - \end{matrix} \right)$$

$$2. B = \frac{b}{r} \quad 2. B = \left(\frac{1}{r} + \alpha\right) \left(\frac{1}{r} + \beta\right) = \frac{1}{r^2} + (\beta + \alpha) \frac{1}{r} + \alpha\beta = \frac{1}{r^2} + \frac{\sigma}{r} + \frac{b}{r} = -\frac{1}{r}$$

$$\frac{1}{a} + \frac{a}{b} + \frac{b}{c} = \frac{r}{a} \quad \left(\begin{array}{l} a=0 \rightarrow \frac{1}{a} + \frac{a}{b} = 0 \\ a=r \rightarrow \frac{1}{a} - \frac{a}{b} + \frac{b}{c} = 1 \rightarrow -\frac{1}{r} + \frac{b}{c} = 1 - \frac{b}{c} \end{array} \right)$$

$$\alpha + \beta = -\frac{-\alpha}{\alpha} = 1 \quad \alpha = 1 - \beta \quad \alpha^N = 1 + \beta^N - \beta$$

$$P_B^* + 1 + B^* - P_B - B = \frac{1V}{P_0} \rightarrow P_B^* - P_B + \frac{1V}{P_0} = 0 \rightarrow B^* - B + \frac{1}{P_0} = 0$$

$$\beta = \frac{1 \pm \sqrt{\frac{5}{6}}}{\sqrt{\frac{5}{6}}} \quad 2 \leq 1 - 1 \pm \sqrt{\frac{5}{6}}$$

$$|d - \beta| = \left| \frac{1 - \frac{1 \pm \sqrt{\frac{5}{6}}}{2}}{2} - \frac{1 \pm \sqrt{\frac{5}{6}}}{2} \right| = \left| \frac{1 - 1 \mp \sqrt{\frac{5}{6}}}{2} \right| = \left| \frac{\mp \sqrt{\frac{5}{6}}}{2} \right| = \frac{\sqrt{5}}{2}$$

$$\alpha + \alpha + P = P\alpha + P = \alpha + 1 \rightarrow P\alpha + 1 = \sigma \quad \alpha(\alpha + P) = \alpha^P + P\alpha = \sigma$$

$$P_{\alpha+1} = \alpha^N + P_{\alpha} \rightarrow 1 = \alpha^N \rightarrow \alpha = \pm 1 \rightarrow \alpha = 1 \text{ (since } \alpha \neq -1) \rightarrow P(1) + 1 = 0 \Rightarrow a$$

$$\beta + \beta + \mu = \mu \beta + \mu = \mu \omega + 1 \rightarrow \mu(\omega) + 1 = 10 \rightarrow \mu \beta \in \Lambda \rightarrow \beta \in f \quad \beta + \mu = 9$$

$$(f)(A+2) \geq f(4) \geq 4 \quad \text{and} \quad 2 \times (A+2) \geq 1, (5) \geq 3$$

$\rho_f - \rho \leq \rho_l$ ✓

$$\alpha^p + \beta^p (\alpha + \beta)^p - \gamma \alpha \beta = \gamma_p - \gamma_p$$

$$\Delta = h^{-1} f(\alpha) \Rightarrow 1 - f(1)(1 - m^P) \geq 0 \quad 0 + f m^P \geq 0 \rightarrow + f m^P \geq -0 \rightarrow m^P \geq -\frac{f}{0} \rightarrow m^P \geq 0$$

$$-1^P - f(-1 - m^P) = 1 + f + f m^P = f + f m^P \rightarrow f + f(0) = f \quad \checkmark$$

$$\frac{r+0}{r} = -1 = r_s \quad \checkmark \begin{vmatrix} -1 \\ 1 \end{vmatrix} \quad a_n^p + b_n + c \rightarrow a_n^p + r a_n + c \quad \checkmark$$

$$-1 \rightarrow \alpha - \rho_{\alpha} + C = 1 \rightarrow -\alpha + C = 1 \rightarrow C = 1 + \alpha \quad \checkmark$$

$$a^p + b^p = (a+b)^p \pmod{p} \Leftrightarrow a^p + b^p \equiv (a+b)^p \pmod{p} \Leftrightarrow a^p + b^p \equiv a^p + \binom{p}{1} a^{p-1} b + \binom{p}{2} a^{p-2} b^2 + \dots + \binom{p}{p-1} a b^{p-1} + b^p \pmod{p}$$

$$\alpha\beta = \frac{c}{a} = \frac{1+a}{a}$$

$$C = 1 - \frac{2}{12} = \frac{1}{2}$$

$$a = \frac{r}{r}$$

$$C = \frac{1}{3}$$

1/9

$$d\alpha \sim \alpha \sim \frac{r}{q} \rightarrow \alpha \sim \frac{r}{q} \rightarrow \alpha \sim \pm \frac{r}{q}$$

$$\frac{-b}{a} \sim \alpha + \frac{r}{q} \sim \left(\begin{array}{l} \frac{r}{q} \rightarrow f\left(\frac{r}{q}\right) \sim \frac{\Lambda}{q} \sim \frac{a}{q} \rightarrow a \sim \Lambda \\ \frac{r}{q} \rightarrow f\left(-\frac{r}{q}\right) \sim -\frac{\Lambda}{q} \sim -\frac{a}{q} \rightarrow a \sim -\Lambda \end{array} \right)$$

$$\Lambda \sim -\Lambda \sim 19 \quad \checkmark$$

$$\gamma n^r - a n + b = 0 \rightarrow \begin{cases} \alpha \\ \beta \end{cases} \rightarrow S = \frac{a}{r} \quad p = \frac{b}{r} \quad (4)$$

$$\gamma n^r + a n - 4 = 0 \rightarrow \begin{cases} \alpha = -\frac{1}{r} \\ \beta = -\frac{1}{r} \end{cases} \rightarrow S = \frac{a}{r} - 1 = \frac{-a}{r_a} = \frac{-1}{r} \rightarrow a = 1$$

$$p = \frac{b}{r} = \frac{-4}{r_a} = -r \rightarrow b = -4$$

$$\left[\frac{ab}{r} \right] = \left[-\frac{r}{r} \right] = \boxed{-1}$$

$$S = \alpha + \beta = 1 \rightarrow \alpha = 1 - \beta \quad (5)$$

$$f \cdot \beta^r + \gamma \cdot (1 - \beta)^r - \gamma \cdot \beta = 1 \gamma \rightarrow \gamma \cdot \beta^r - \gamma \cdot \beta + 1 = 0$$

$$\gamma \cdot \beta (\beta - 1) = -1 \rightarrow \gamma \cdot \alpha \beta = -1 \rightarrow \alpha \beta = \frac{1}{\gamma} = \frac{-b}{a} \rightarrow a = -\gamma \cdot b$$

$$-\gamma \cdot \beta n^r + \gamma \cdot \beta n - \beta = 0 \rightarrow |\alpha - \beta| = \frac{\sqrt{\Delta}}{|a|} = \boxed{\frac{r}{\sqrt{\Delta}}}$$